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VI Semester B.Com. Examination, May/June - 2019
COMMERCE

6.4 : Management Accounting
(CBCS - Fresh+Repeaters - 2017-18 onwards)

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be wrilten completely either in English or in Kannada.

wyen-o /SECTION-A
O3RPYTIECR 5 WITIRAYN LOZOR. TS TJ 2 VOB, 5x2=10
Answer Any 5 Sub-questions. Each Sub-question carries 2 Marks.
1. (a) meowemd Hed DFeRRORY ©XE BROLDT BRAFHVOT TR, T, IR

Name the Parties who are interested in the Financial Qtatement

Analysis.
(b) ?5‘31 NIRRT ROTTERD ?

What is Trend Analysis ?
(c) oS BOOHMOS wém; L Q0D eﬂw%ﬁéﬁ@m&\ SPA.
State two Requisites of Good Reporting System.
(d) BooDFHI&k WOBTYW WTPFII, IFA.
State the meaning of Working Capital.
(e) INTH BOOINNT TUOR VPF SR,
Write the meaning of Cash flow Statement.
(f) wWoBTY Mo BTTRIT Janoe’aﬁoda ﬁen BP0 ?
How do you Calculate Capital Gearing Ratio ?
(g) %O, Mg, T DPeRB VPFRI, 39R.

Give the meaning of Common Size Statement analysis.

P.T.O.
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Q-0 /SECTION-B

odnyewde 3 “:23 nen eu3dA. T TJR 6 WOINW. 3x6=18
Answer Any 3 qucstmm, “Each qucstmn carrics 6 Marks.

2. o 3UT0B B0LICWOT FePWR VRTOITII, 30R&HBOD
(1) 363 90T (ii) TR ﬁ&)mw OB (iii) FRO-T3BR LT3
J%oé ¢ sanw 6,00, 000 gdoyws wems X 60,000, 55"??03?5 INDSDISY
Z 1.60.000, USJ.’\%?‘ [IRTT .nJ?u 23,00, 000 TRV, D &Joiﬁmu%w NPT
Z 8,00,000, 10% f:?wE’JD =D woBY T 3,00,000, 12% o) zened X 3,00, 000
309 wEROND ’3 00,000, =@, WOEHED % 2,00,000.
From the mformdu-:m given below, “calculate the following ratios :
(i) Quick ratio (ii) Stock Turnover ratio (iii) Debt-Equity ratio.
Information : Current Assets T 6,00,000, opcning stock Z 60,000, closing
stock T 1,60,000, cost of Goods sold ¥ 23,00,000, Equity Share Capital

Z 8.00,000, 10% Prcference Share Capital ¥ 3,00,000, 12% Decbentures
¥ 3,00,000, Current Liabilities ¥ 3,00,000, Gencral Reserves T 2,00,000.

3. nF:B \Bﬁm*‘wd TOZWRR, FOFeTTIN DWOR.
Briefly cxplam the Role of M.;md&,emcni Accountant.

4. 3YI0R LFONLOT STOPT FOTAN :douodwaipé FOORE ROWOH WERTJIINTOW
T DRODI), o B0 : :

%
#eIINTO 8,500
0T3P FTRBRROBIIHTD 15,300
Nd ,jebr‘ WRTUE T 14,000
0 TINY 0eDT DTV SR ﬁ@ka@@Nd,Ejjcb 20,000
m&iéw BRTN0TIT IK, 2,000
ﬁ@a"ha@;—hd TRTFLPOL DWF 8,000
uwa’ SptaDlel:) 50,000
ﬁ_ﬂ%’ DRreES ON Bror AT 20,000
Neéfmw SRPOOT 4,500
}*mm the following details find out Funds from Opcration of a Start up
Company.
4
Salaries 8,500
Depreciation Written off 15,300
Profit on Sale of Fixcd asscts 14,000
Discount on Debentures written off 20,000
Loss on Salc of Investments 2,000
Prcliminary Expenses Written Off 8,000
Proposed Dividend 50,000
Transfer to Debenture Redemption Fund 20,000

Dividend received 4,500
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5.

3 $UNT BPLICWOT HHOHE POTHYF TeICOT, 03RO,
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2016 2017

z Z
DYSpIeRI X 5,00,000 4,00,000
R0 RVRBT NV :5;{3d 3,00,000 1,80,000
BREY T, WRTW :32% 1,00,000 70,000
23T STIORNW 20,000 10,000
30 Jon 60,000 70,000
From the following information prepare a Comparative Income Statement.

Year 2016 Year 2017

4 g
Sales 5,00,000 4,00,000
Cost of Goods Sold 3,00,000 1,80,000
Administration & Selling Expenses 1,00,000 70,000
Other Incomes 20,000 10,000
Income Tax 60,000 70,000

FINT e’btJ%ri%?Oiﬁ FooRF WDTIBALOT WAH INT TR0,

31 &@xowo*
2017
3

2 023eT0T BVOBNED 60,000
9ednsd 20,000
BRTLICTOT TORMLD 30,000
N 9,000
L5o8 QT szgmi‘; 2,000
FNONA TORSRRT aNDFN 900
ZR0RBOAT HTOOD 700
BNONFoN TBODTRW SWooD 900

I3 ITE o :

2018
2

57,000
22,500
35,000
7,000
2,200
800
850
350
80,000

From the following balances calculate Cash from operations.

31st December

2017
g
Bills receivables 60,000
Debtors 20,000
Bills payable 30,000
Creditors 9,000
0/S Expenses 2,000
Prepaid Expenses 900
Accrued Income 700
Income received in advance 900

Profit made during the year -

2018
3

57,000
22,500
35,000
7,000
2,200
800
850
350
80,000

P.T.O.
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oen-2 /SECTION-C

—
DS ¢ 5_4‘”

14 ©08N.

Answer any 3 qucsu() S. EdCh question carries 14 Marks.

AENETER

3x14=42

7. J&J?é éjgfﬁo: oi ©goss e v, 65008 31.3.2017 Toth 35 FYTOWOSH.
VINSY
DROFT DT WWROND 3 AN 4
RBPT, Be OB 1501 33 3
(Twres TOBRE) (Srpoeie) 220
SAVIIOVIMEN] &".,ELCSB 55| less: ATFQ 35 185
oo W I S, 20| o ey -
0N RN 10| womem 35
208D, FAND 50| a3ednsd 40
TNTR 25 100
285 285
FHegs NRbd 3 3Y80BO3T :
R ogneg)
=003 130
2@ #3) Fon wows Bweobn® (EBIT) 40

38?’ FJ“O""’ULJ eﬁwu:}.oméo

- 30

SO

e’} ; s
99063 BT T

(i : (1v)
(i) T® DTS (v) TR B0l LT3
(iii) bt ©oy ©JTI (vi) RSO T[RRVE BRY

TRRRT; Zeohnd edT (ROE) oog5eo3

(vil) =

The Summarised Balance Sheet of dnyd traders Ltd. for the yecar ended
31.3.2017 is given below :
¥ Lakhs
Capital and Liability | ¥ Assets 4
Equity Share Capital | 150 Fixed Assets (at Cost)
(Fully Paid up) 220
Reserves & Surplus 55 Less Depreciation 35 185
Profit & Loss A/c 20 Current Assets :
Provision for taxation [ 10 Stock 35
Sundry Creditors 50 Debtors 40
Cash 29 100
285 285
e e ——— ————
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The additional information is given below :

T Lakhs
Sales 130
Earnings before interest & Tax - 40
Profit after tax (PAT) - 30
Calculate the following for the company and explain the Significance of each ratio.
(i) Current ratio (iv) Debtors Turnover ratio
| (i) Liquidity ratio (v) Stock Turnover ratio
(iii) Profitability ratio (vi) Average Collection Period
(

vii) Return on Equity.

o

8. o UK BoUTHT ToR0wE0T & X, O Wi BHFODT, VBTN

RO 01.01.2017131.12.2017 o 01.01.2017|31.12.2017
v % i = T T
QA0 50000 54000 |31 20000 8000
méoﬁ:r‘\%‘roai IRT WO 50000 60000 [»32e37%0 40000 60000
BN WO TP
- % - 25000 - TI R TONRO 45000 35000
WOBTOY 135000 163000 (c3081%0 90000 65000
BRTMT0 40000 54000
ASDIAN 25000 55000
260000 277000 260000 277000
ﬁuégd“‘f) _‘5::3
T IRETY 0DoINY [P, ¥20,000 T, T 6000 BROWNG (FONTHIT XHTY

2 600) 01.01.2017 Sow 0HOFRY Swexed XFFP T 35000 T3 31.12.2017 Bow»
¥ 50000. TR B[RFT C0LROTT Spg T 55000.

JINTD BORT ,ue;p\o;izi 3odT0A.

Given below are the Balance Sheet of Ramachandra & Sons.

B 1 Jan 201731 Dec 2017 1-Jan-2017 |31-Dec-2017
Liabilities Assets
4 T g Z
Creditors 50000 54000 |Cash 20000 8000
Loan from Bank 50000 60000 [Debtors 40000 60000
e 25000 y Stock 45000 35000
Loan
Capital 135000 163000 |Machinery 90000 65000
Land 40000 55000
Building 25000 54000
260000 277000 260000 277000
P.T.O.
— e —————— —— ™ -
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During the year a machine costing ¥ 20,000 (accumulated depreciation
X 4000) sold for ¥ 6000. The Provision for Depreciation against Machinery as
on 1st January 2017 was ¥ 35000 and on 31st December 2017 ¥ 50000.
Net Profit for the year amount to ¥ 55000.

You are required to prepare Cash Flow Statement.

e_ﬁ&o".\_ WP, (BTRS BestToow)

(]
QToNeH 2015
4

EXVRIeDI X 300000
ROBNY S0SwOTD He, 250000
Tookhs WtHTLIINY 5&3 :

geded Segnieh 10000
Spook: SENW 5000
ke son) W 2000
FORF RN LI dzémfa !

wURY 20edd wg 6000
oD DedT 2@ 15000

300000

55000
30000
5000

14000
20000

53 6%:—%. RO JImFTo3 2015

2017
4

650000
300000

70000
45000
6000

30000
50000

From the Following information compute trend ratios, use 2015 as base year

(trend Percentagce)

Particulars 2015
T

Sales 300000
Cost of goods sold 250000
Operating Expenses :

Office Expenses 10000
Scelling Expenscs 5000
Distribution Expenses 2000

Non-Operating Expenses :
6000
15000

Interest on Debentures

Interest on Loan

2016
T
550000
300000

55000
30000
5000

14000
20000

2017
]
650000
300000

70000
45000
6000

30000
50000




10.

0RO . e
3 9308 ©ONOT DNkl THO LN TP DB siaagdwa B78&30N0T :
30330% @ (a) B0 WOWWYTYT WTLRIHWOD Ted, B
(b) G BONT TP, JoIPOR.
PP - 31.3.16'°| 31.3.2017 ik 31.3.16 | 31.3.17
4 7 , 4 4
wEEE, ded woE@Y | 6,00,000] 7,50,000 (3B 3,50,000| 5,00,000
ooy S 003 50,000 75,000 [020Z7ied 3,00,000{ 4,00,000
TRESO Woe 2,00,000| 4,00,000|c3pexsTeemed | 1,85,000( 2,05,000
Gedriso 4,50,000( 5,40,000 [t 2,60,000( 4,50,000
BRBELICEIE TOBNW 85,000 95,000 [9326371%0 2,00,000| 1,80,000
wod VT BePriwd 5,000 10,000 |37 85,000| 1,35,000
TRWF LT
W0 10,000 -
13,90,000| 18,70,000 13,90,000( 18,70,000

X@O RS :

(a)
TeERNT.
(b) TRIFPN IJWNsL

wE

(c)

% 10,000 3nHTIRNG.

WwOBY DoCHAT 3R T 1,50,000.

ohodny See T 20,000 I wedpemIsony ed T 20,000 TTI9 IADD

From the following Balance Sheet of Arvind Ltd and additional information

Prepare : (a) Statement of changes in Working Capital
(b) Fund Flow Statement.
tintilides 31:3.16 ] 31.8.17% Assets 31.3.16 | 31.3.17
4 3 3 3
Equity Share Capital | 6,00,000| 7,50,000|Building 3,50,000| 5,00,000
P&LA/C ~50,000|  75,000|Machinery | 3,00,000( 4,00,000
Long term debt 2,00,000( 4,00,000|Furniture 1,85,000( 2,05,000
Creditors 4,50,000| 5,40,000|Stock 2,60,000] 4,50,000
Bills Payable 85,000 95,000 (Debtors 2,00,000] 1,80,000
0/S Expenscs 5,000 10,000(|Cash 85,000] 1,35,000
Preliminary
Expenses 10,000 -
13,90,000] 18,70,000 13,90,000] 18,70,000

P.T.O.




GS-468

© AHAE R

Additional Information :

(a)
(b)
(c)

11. (a)

(a)

(b)

Depreciation written off on Machinery ¥ 20,000 & on Furniture T 20,000.
Preliminary Expenses written off ¥ 10,000.
Building purchased during the year ¥ 1,50,000.

FEN PATOT THToIMYY ToONFT0 LoBTTIITT, u*‘;}'zsgﬂmr@a'@s.
TRRCIPNAFTRE VTR WHCTBBOIRMIP IR SO Fodte Bod 3.
Sn eRT TPET.
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(vi) ©pFHoo3 mx=&ATH. I 1,50,000

(vii) &Oo0T IRFT 3T Tow T 1000 33 T[HRF LOBBOTT)TN.

INT DJoNRYOT = S3DBONT, IOIPOA :

(i) =BG 1.1.2017 ot T 3,00,000

(ii) =PI 31.12.2017 Jocd X 6,10,000

(iii) m@ad DT XFB 15%

(iv) @& m@I @ X 70,000 (N &3S X 30,000) IO, T 42.000.

(v) m@ﬁd ¢ T 15,000 (33”3 363 T 4,500) méad 2360»:’0534 FED BRORT.
(vi) Q=T 3o T 2,30,000.

State with rcason whether the following transactions result in the

increase or decrcase of Working Capital or do not affect the Working

Capital.

(1) A Company issued 10,000 shares of ¥ 100 each at Par.

(ii) Cash paid to Creditors ¥ 75,000.

(1i1) Long term Investments were sold for ¥ 10,00,000.

(iv) Preliminary expenses written off ¥ 20,000.

(v)] Advance Income tax paid T 75,000.

(vi) Dividend paid T 1,50,000.

(vii) Bad debts written off during last year recovered ¥ 1000.

Prepare Plant A/c [rom the following :

(i) Plant as on 1.1.2017 ¥ 3,00,000

(ii) Plant as on 31.12.2017 ¥ 6,10,000

(i) Depreciation on Plant charged at 15%

(iv) Old plant costing ¥ 70,000 (WDV X 30,000) have been sold for
T 42,000

(v) A plant costing ¥ 15,000 (WDV T 4,500) has been discarded.

(vi) A plant purchased for ¥ 2,30,000.

-00o0-




